a(6 @) (rad)

=
S
o

aoa, ) (cm)

107 =

0’81_...'..'.:.'.'.".'i...'...'.'.'.'.'.'.'i....'..'..'.'.'.'.".i....'..'..'.'.'.':'

O R R LLTTTERPPR TEPPPPRETERS -PRPTERRPPRS
G-71 : .2 3
10 1 TPlé)T (PCA 16 beamiinéf

~1072
=5
IS] I e S,
o
©
e} e
9 1.Uo" T T :
T r :
@ [ H
1_— ------------------ R LT , ------------
‘95-—1 ; :2 3
10 1 TPlpg)T (PCA t%obeamlinéf)

—=— DQM_NoFIt_stepZ_tibar-phasel-newgeom
—e— DQM_noCPE_step2_tthar-phasel-newgeom

—— DQM_cpeGenericTime_step2_ttbar-phasel-newgeom
DOM_cpeTemplatedTime_step2_ttbar-phasel-newgeom

107

010 &l sl
T r
o r

0.5_— ''''''''''''''''''''''''' e

-1 2 3
10 1 TPl[g)T (PCA f%)obeamlinép
n=
L
Q_'_ . e
S
5
107"

il
0.95— i i = s
10 1 TPlpg)T (PCA t%)obeamlinel)O

£
L
>
° T S P A
5]
Q10R il
T r :
o C :
1_— ------------------ e, ------------
0.95— ' :2 5
10 1 TPl[g)T (PCA f%)obeamlinéf)



	Contents
	Page 1


